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LAMPIRAN 
4.1.3 
*Sampel 1 (4 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= ଵଽ.ଵ଴଴ି ଵଽ.଴ସଶ
ଵଽ.଴ସଶ   × 100% 
= 0.304 % 

*Sampel 2 (4 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= ଵ଼.ଷ଴଴ି ଵ଼.ଶ଺଴
ଵ଼.ଶ଺଴

  × 100% 
= 0.219% 

*Sampel 3 (4 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= ଵଽ.଺ସଵି ଵଽ.଺ଵସ
ଵଽ.଺ସଵ   × 100% 

= 0.137% 
 
*Sampel 1 (8 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= ଵଽ.ଵହଶିଵ .଴ସଶ
ଵଽ.଴ସଶ   × 100% 

= 0.577% 
*Sampel 2 (8 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= ଵଽ.ଵହଶିଵ .଴ସଶ
ଵଽ.଴ସଶ

  × 100% 
= 0.421% 

*Sampel 3 (8 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

 
= ଵଽ.଺଺଼ିଵଽ.଺ଵସ

ଵଽ.଺ଵସ
  × 100% 

= 0.275% 
 
*Sampel 1 (12 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= 19.174−19.042
19.042

  × 100% 

= 0.693% 
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*Sampel 2 (12 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= 18.375−18.260
18.260

  × 100% 

= 0.629% 
*Sampel 3 (12 Jam) 

ܣܵܦ =
ଶܤ ଵܤ −

ଵܤ
 × 100% 

= 19,729−19.614
19.614

  × 100% 

= 0.586% 
 
4.1.4 
*Sampel 1 

ଶܦ ߨ

4  ×  ݐ

= ଷ,ଵସ (ଶ଻.ହ)మ

ସ
 × 22.5 

= 13.557 ௚௥
௖௠య 

 
*Sampel 2 

ଶܦ ߨ

4  ×  ݐ

= ଷ,ଵସ (ଶ଻.ହ)మ

ସ
 × 22 

= 13.060 ௚௥
௖௠య 

 
*Sampel 3 

ଶܦ ߨ

4  ×  ݐ

= ଷ,ଵସ (ଶ଻)మ

ସ
 × 22 

= 12.589 ௚௥
௖௠య 

 
4.1.5 
*Sampel 1 

µS =ி
ே 

= ଵ.଻ହସ
଺.଴଻଺ 

= 0.288 N 
*Sampel 2 

µS =ி
ே 

= ଵ.଻ହସ
଺.଴଻଺ 

= 0.288 N 
 
 



37  

*Sampel 3 
µS =ி

ே 

= ଵ.଺ଵ଻
଺.଴଻଺ 

= 0.266 N 
 

 Massa Spesimen 1 Gesek 

 
 Massa Spesimen 2 Gesek  

 
 Massa Spesimen 3 Gesek 
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 Spesimen 1 Utuh 

 
 Spesimen 2 Utuh 
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 Spesimen 3 Utuh 

 
 
 Tebal Spesimen 1 Gesek 

 
 Tebal Spesimen 2 Gesek 
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 Tebal Spesimen 3 Gesek 

 
 

 Cetakan Spesimen 

 


